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Lecture8 16.1-4 iq06

1. Revisit the charged rod problem. See class notes bullet 2.
o Change variable of integration from linear variable to angular
variable.
o Verify the closed form result agrees with the the result of
integration table. .
2. Field along x-axis (more generally along r-axis) due to a charged

rod Clicker 8-3
o Far field, at >>1L/2
o Near field, at r<<L/2.
3. Force between a long rod and a dipole , discussion on clicker for

h1-003.

4. Field along z due to a charged ring.
o Far field, at >>R
o Near field, at r<<R
4. z-component of the field in the intermediate region.
5. For positively charged ring, find the motion of an electron near
z=0.

Class Announcements:




/MI\
| N
N i /K ,m.m_/,
C 13| | ML I%E ey AN
v d m\ [ T /av udv \mw/ I
MM , MT ni rﬂk% TY wm w | ,M_ N | m,
/m : ; 3 \M ), LJV o //_.\
e I | SNER
‘W ,% R M/u 4 WfTVq ) ; s
/  § — d | n
Aw ﬂﬁm N LJ ST
\, 5 1] SN[
) ¥ ﬁ U | m
| < P A m% N JMm by X g /MN,A
] i RN 2 d//JN
Mf < X ,,va\v me :
TN TN iy
, /.T / ] 3 ]
N /nf ’ | ! \ | ,
_gt / T J J/Df t = .W\
pm X VAYEEA: M e 4
5 . /
> N, | ,
i | gy D E \ v
N .V W
,v A




"9(}

<

2
[

L d4)
=¥

A
oA, F =) 2ot

.L—P

]

=/

N

L
5

HAA
%

[ Se /éjey

pa
A

8 .

C#/

I

Zan X

b
<

\./
a L/ :[7//"{‘)‘

A

)

Y &
"\//p(:?‘

7

/ Pl

PR
4oL (4)

e

//GZ NIT=

VA
0_(_./1/?

1 V2L

Ll

v

1 /a7

—

Nl e




HMJ
w

I r/:iil,—/__\/l—

occle . & d
e R el
A ~7&p =z s
=L Z ¥
e e i) v -
%4:;:7(7€ oy T *ZEQ@{ 14
y g
=2
? 1 o - i L
7 P o
5 O 0 A R
P d
AT S el
il ] | T
| 7
7 =







clicker h1-003. -
!

Long rod. A=AQ/Ay >0.
Ex= 2kMr.

0 e
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Sign‘ of F*40p: Choices:

1 Repulsive
Attractive

Magnitude of the force: | F4op |

1 | Fmddrop |1/ r
2 | F %0 | @ 11
3 | Fp | & 11"




